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This is how the n'"'" reads the text: — 77375 RY AN 920 07

OVERVIEW

There are two 2’2109 in the 7110 regarding 9139. One is in ¥ Nw1D which reads; ox
WHIM 7 21D 17 2w XY IR 2PN XY R? OWOOWI 012 1AW [T Wan 2R ORI
Rwn ANy WA nvoxa.' This is referred to as the XX X3P (the long mod). The
second is in 2°w1TP MWD which reads; 7Y RS X7 9130 SwSWa 4P IR 9ORT XY
This is referred to as X017 X7p. There is a dispute between *"w7 and Md0IN regarding
the text, as to which of the phrases 7% &% and 2w X refer respectively to 7130
and an1.’
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For this is how it is explicitly stated in the second P99 of 2’127 ndon that we
derive both (v pn° v and 12212 Y1) from the one long 7105 in 13 nw-p —

mooIn clarifies the details:
= 9319%Y NIN IYIIND AUNnY pm 5’\’)’7\’)7! 012 2'N27 NPT NIV

And the beginning of the w5 where it states nx7> X7 "whws ara, the XM

establishes that part of the 105 to a thought of eating the %1% v 127 -
= 121P2Y 1N VN YNNI NOYD)

And the end of the P05 which states, 7°7° 71309 12 2w XY is discussing where he

thinks to eat it Y21 .
— ND9%) IND NN 618‘1 NP INAN D213 HIND
And in 210 and this P15 of 1% nw1d this is how the text reads there.
= RO XIPN VT INT OHNT 8’0’\’)1‘1‘;7 NYH9YT 02N NN DY TN99IN 194N 37U

Dt R,
210 R
? In this context 29 refers to a forbidden thought of eating the ¥pn% 11 1277 (not in its proper place, whether it is
in the 771Y or in 2°7w17%) and M1 refers to the forbidden thought of eating the 1312 i1 1277 (after its proscribed time
whether it is 79" 2% or TR 79°71 o '2Y).
* See ‘Overview’.
> No 1277 may be eaten on the third day; therefore it is logical that the phrase 737 X2 " >wn o2 is discussing 2wnn2
1112 Y. [Actually eating it 11217 ¥ (which is the ‘real’ 2mi1 110°K) is derived from other o°p109.]
% See o°1y 19 who refers this to v"71 7"9 72737 X127 2",
" The X0 according to >"w1 is how it is stated in our texts; K1 923 > 1M Y ORI 7 KD MR 725 °77 D100 W R
W XY.
89" K",
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However, 3'"'w9 who amended the text in the reverse, follows according to the
2'"1n of aw7p nwap where certainly there the >"n derives pn% yin from the

small ?10p -
= NYNNA 0NATA NININ NNIY 193 299 N2IYI NNPIIA NIINY

But that Xn»92 was taught according to what the X923 originally wanted it

2%m7at Noon -
- TDOUrTpT XU KPR 1IPNRY N TInYY

To derive ¥p»» v from the small P92 of 23wy TR NwAs.

mMDoIN comments:
10: 80992 99999 1Y VP INDN DY NEP DIWINDN Y99
However according to all interpretation there is a difficulty why the X7

mentions 912 1Y first, when the »05 mentions 1M1 17 first! MoIN here does not answer
this question."’

SUMMARY
The two Mo of >"wA and MdOIN correspond to the X" (which is *"w1 nd7%3) and
the ('0I0 NB7%) XIPOX in @MaT NOOA.

THINKING IT OVER

220 generally refers to 112 yn awnn (for which there is N2 if the 7Wwa is eaten),
but not for ¥pn% vIn awnn (for which there is no n73). Why does the & 3 here
refer to ¥A3Pn? I as 700?

’ The XM initially argued that the 09 in D°wY7p cannot be referring to 1> v (even though the 105 states X
%77 RD R 9000 whwi 012 2aR° 9OR:), since we know 1319 I from 18 nwao (where it states also 31 9oKY PoR7 X
"3 wbwn o), therefore we must conclude (through the concept of "1 Py R oR) that the 105 in DW7P is
referring to 1Pn? . Therefore the 71X XY in 2W17p MWD is referring to ¥ pn? yn (which we call 91309) and the
2w XY P09 in 18 MWD is referencing M3 (which is 1115 yIn). However, Npo1n argues that according to the X3pon in
o°nar since both 117 yan and wpn? v are derived from the one 109 in 1%, therefore %7 X9 v Swn ova is N1 or
117 YIn and 2wne XY is 7109 or mIpn? vIn.
' According to mooIn the difficulty is greater, since both 25 and 2w &> (which [according to MmooIn] is associated
with 719) are stated at the end of the 109, but even according to *"wA (that 215 is associated with 7% X% [of 'D
o'w17R]), nevertheless the word 2139 is written at the end of the 109 [in 2°w17R], so why does the X113 mention 17
S0 first.
' See ox 11" 2,20 0°12a1 Moo who answers that since the word 9130 is mentioned in the 105 (but not the word n11)
therefore the X773 mentions 9130 first. See also aR 1"7IN R,T XA,
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